N = 0l & A& & Al A
2000 E £ 2 3l LN BADBAMYY ~ BAZEANLE
SN BAREAST
M NOSHRE SENL(STHYLN/5Y - 5E)

Sl RSN M U RERE 23 (el &2
SNBSS - HRAY - BHES 01l & o4 01 o HIRZE2
BANRBASE 7,862,483 2,708,451 5,154,082
NSRS SYNL(STHL /Y - S&) 6,764,170 1,610,138 5,154,032

STLUN 44 Y RSB 23 6,764, 170 1,610,138 5,154,032
ST M B2 319,530 281,498 38,032
101 @121t 112,073 92,648 19,425

PR EES TR 112,073 92,648 19,425

OEUSRSATL 2=y 19,425 0 19,425

201 LBty 53,800 56,800 23,000

2 T2 48,000 51,000 3,000

miSEY] 20,000 23,000 A3,000

OARAUREAS LYY

23 20,000,0002 20,000 23,000 3,000

206 W& 61,700 63,700 A2,000

01 T2l 61,700 63,700 A2,000
CIOHS Ol 21 B ALE S 4 Ol M 72

23 1,900,0002 1,900 3,900 A2,000

207 1Tty 20,000 21,550 A1,550

03 AlE oyl 20,000 21,550 A1,550

BEVINEPIPOELS 2 5,950,0009! 5,950 7,500 A1,550

405 THAHE S 49,457 24,300 25,157

01 RAUSEH S| 49,457 24,300 25,157

(s8EAE 7Y 25, 157 0 25,157

R82s 34 23 108,640 113,640 25,000

201 LByl 40,800 41,800 A1,000

01 ALRelt] 2,000 13,000 21,000

BEEES= 9,000 10,000 A1,000

ORS2EE2AUN2RAS

23 9,000,000% 9,000 10,000 A1,000

207 AP EI 42,850 46,850 A4,000

03 Al eyl 42,850 46,850 A4,000

BT EEESIPO LT

A 28,100,0002! 28,100 32,100 A4,000

MR 0l 6,336,000 1,215,000 5,121,000

201 LByl 6,000 0 6,000

01 AR eIt 1,000 0 1,000

DA ZOI M =R Z A 1,000 0 1,000

2 22 5,000 0 5,000

O FEI| &XIS 5,000 0 5,000

401 AIZHIL 2O 130,000 15,000 115,000
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